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~ Ch 1: Functions and Limits

1.1: Four Ways to Represent a Function

1.2: Mathematical Models: A Catalog of
Essential Functions

1.3: New Functions from Old Functions

1.4: The Tangent and Velocity Problems

1.5: The Limit of a Function

1.6: Calculating Limits Using the Limit Laws

1.7: The Precise Definition of a Limit

1.8: Continuity
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|I| Definition A function f is continuous at a number a if

lim £(x) = f(a)

right or continuous from the left.)

their domains:

[z] Definition A function f is continuous on an interval if it is continuous at
every number in the interval. (If f is defined only on one side of an endpoint of the
interval, we understand continuous at the endpoint to mean continuous from the

Theorem The following types of functions are continuous at every number in

e polynomials e rational functions

e root functions e (trigonometric functions
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Explain why the function is discontinuous at the given number a. (Select all that apply.)
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Sketch the graph of the function.
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